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we can then write \‘ //
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The first exponential factor is simply the free field result, while all the
interesting physics is in the second exponential. The latter can be Taylor
expanded in powers of 7, keeping those terms which contribute up to
order 72 after integration over momentum. Noté that each power of p?
contributes a factor of 1/7. Thus we obtain the expansion

(1.14)
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Employing these relations to evaluate Eq. (1.14) gives (to second order

in 1),
?'P_Tiflz?_
H(z, 1) = “d —
) 72.d/2
1 (4”1) ’ 1 (1.17)
’ [1 AN (2“2 + g A dulld, ) + ([dy, [, oﬂ)] |
or in the notation of Eq. (1.3),
ap(z) =1, ay(z) = —0o ,
1 (1.18)

: 1 1
w2(x) = 50° + =l A", d’] + = [y [0, ]
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